SN2

* Fix 1o tha pumps with flangs conformang IS07005-92 standard
» Sewage pump with standard Ranged elbow can connect 10 Ihis
auto—coupling dectly.

Supplied with

= Coupling seat

= Coupling adapter

* Upper guide supporn

*Flange (= 4" )
{Foundation bolts, Guide Pipe and Upper guide support bolts are not included)

Dimensions table

40-40(PN6] @40/ G1¥ 100|130 4914 225 185| 70 | 18 | 35 |110|14D| 5 | 65 | 65 | 70 | 60 [150 | 115|195 215
SO.50PNG) | 05002 110/140 44014 265 215 105| 25 | 42 |20 215 15 | 67 165135 63 | 25 |160 250|280
65-65(PNG) @65/ G2y 130 160 4-914 | 280 230|125| 30 | 50 |230|235| 20 | 70 |190 (155 90 | 25 [165|265: 295

| B080PNS) | 040/ G 1150190 4018 316 265145 27 | 50 (266228 30 | 76 215|188 77 | 26 |10 205 338
100-100{PNE) mumﬁq 170 210 4-D18 | 365 | 305|170 32 | 55 | 295|260 35 | 95 | 265175 /100 25 | 230|350 380 |
| 150-150(PN6) @150 225 265 84018 400 260 280| 24 48 400|410/ 75 85 |280 300 200/390 300 480| —
IEDJEE{FMD': @150 240 280|8-@22 400 Eﬁﬂ_EED 24 | 48 (400|410 75 | 95 | 280 | 300|200 390 300 |480| —

| 200-200(PN10) @200 205 340 8022 400 260 280 24 |48 400 445 100 95 }m 355 230 440 325 555 —
250-250(PN10) | @250 350 39512-322 400|260 /280| 24 | 48 | 480|555/ 110 95 360 1430|295 | 460|315 630 | —
| 300-300(PN10) @300  4C .022/620 340 375| 32 65 550 600 140 11::1“&”45":?:6 480 415730 —

#Standard equipment of IED El}ﬂ EE'D 300 mm outlet dimension does nol include flange.

Weights & Packing dimensions

40-40(PNE) 11 | 13 | 340w260=185 di{l-dD{P!iE‘p 1°/@33,3 35 A=M14=120 2=M10=40
_ SOSPNG) |17 195 350-320<245 | SOSOPNG) | 17/@333x35 | 4-M16x120 | 2-M12040
ES'ES{PHE:! 24 E:l" 3%112.?#}!34_5 Hﬁ-ﬁﬁlmb_ | i'..'_ﬂ‘.!l_'.l! - 3+5 _ 4-!-..116?12?”' ?-Ifu'll‘.IE'-nW
| BO-BO(PNG) | 31 345 410%200x395 (BO-BO(PNB) 1} /0 48.3x 35  4-M1Bx120  2-M12x40
1W—1W:F"Hﬁ] 45 | 50 4T0=330=475 mﬂ-‘m’;"ﬁ:l 13" 10 48.3 = 3.5 4-M'Iﬂﬂ'|5|:|' 2—“1215{'
| 150-150(PNG) 96 105 700x440%610 | 150-150(PNS) 1)/ D4B.3x 3.5 4-M20%150  2-M14x50
150-150(PN10) | 95 104 700%440%610 15(3-15D:Fu1u:| 14"/ @48,3 = 3.8 4-M20= 150 2-M14=50
| 200-200(PN10) 132 142 770=440%650 | 200200(PN10) 1} /@ 4B.3 = 3.5  4-M20%150  2-M14x50
250-25((PN10) 179 181 S00=510=710 250-250(PN10) 1& { @48.3 = 3.5 d=-pMZ22=150 E-HH-IIIET.I
| 300-300(PN10) 230 245 940570810 | 300-300(PN10) 27/ @603 %35  4.-M24x200  2-M14x50



